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English
1. Choose the word spelt correctly
(A) Exaggarate (B) Exaggerate
(C) Exeggerete (D) Exeggarate

2. Replace the underlined part with the correct option:
Had he worked hard for the tournament, he had aced the match.
(A) He was aced (B) He should aced
(C) He should have aced (D) He would have aced

3. Rearrange the given sentences into a meaningful paragraph:
(a) By means of words and leading him to do
(b) The typical form of this kind of composition is that of a speech or sermon addressed to an
audience.
(c) Persuasion is the art of influencing the will of another
(d) Some particular act advocated by the speaker or writer
Choose the correct answer from the options given below:
(A) (©), (), (d), (b) (B) (b), (a), (d), ()
(©) (d), (a), (b), (¢) (D) (d), (b), (), (¢)

4. Rephrase the following sentence by choosing the appropriate Idiom.

She was affected by the situation when her two bosses had different ideas about what her job

involved.
(A) Caught in the crossfire (B) Caught napping
(C) Caught red-handed (D) Caught in the act

5. A drug dealer or scamster could transfer large quantities of money without a bank to
validate the transaction.
Choose the Antonym for the underlined word.

(A) Agree (B) Confirm

(C) Give Value (D) refute

6. Which of the following is a one-word substitute for the study of sound and sound waves"?
(A) Chronology (B) Acoustics
(C) Alchemy (D) Autistics



7. Which of the following is a one-word substitute for easily deceived?
(A) Fallible (B) Permeable
(C) Gullible (D) Pliable

8. Which of the following is a one-word substitute for an inheritance from father?
(A) Patrimony (B) Alimony
(C) Acrimony (D) Simony

9. Choose the option which is opposite in meaning to the following word:

Cognizance
(A) Tidiness (B) Ignorance
(C) Adulteration (D) Dishevelled

10. From among the following. choose the antonym of 'knowledge'

(1) Deceit (2) Ignorance

(3) Folly (4) Stupidity
(A1 (B)2
©3 (D) 4

11. Below a paragraph is given followed by four sentences A, B, C and D. Identify which
sentence/s can be the first sentence of the paragraph to make the paragraph complete and
coherent.
Indian social system is a caste based hierarchical system. The lower caste people were
exploited by the high castes and had suffered the demerits of socio-economic
underdevelopment. The aim of reservations is to uplift the weaker sections of the society i.e.
Scheduled Castes and Scheduled Tribes at par with the other sections. Though it appears as a
violation of the principle of equality yet its justification is sustained by the obligation of a
social welfare state.

(A) The caste system and the provision of reservations go together in India.

(B) It has origins in ancient India, and was transformed by various ruling elites in

medieval, early- modern, and modern India.

(C) The caste system as it exists today, is thought to be the result of developments during

the collapse of the Mughal era and the rise of the British colonial regime in India.

(D) The term caste is not originally an Indian word, though it is now widely used, both in

English and in Indian languages.



12. Below a paragraph is given followed by four sentences A, B, C and D. Identify which
sentence/s can be the first sentence of the paragraph to make the paragraph complete and
coherent.
The immune system has two ways to defend the body against pathogens like the coronavirus
by producing antibodies that disable an infectious agent and by manufacturing T cells that
have a long memory of such agents. from recurring. However, a robust T cell response can
prevent the infection

(A) Early research has suggested that antibodies fade away within months of contracting

the coronavirus.

(B) The vaccine has shown encouraging results in early trials.

(C) Large-scale trials are required to ascertain if the vaccine actually protects against the

pathogen.

(D) But we do not know how protective the memory in the T cells, induced by the

vaccine, will be against the coronavirus.

13. Given below are four sentences in jumbled order. Select the option that gives their correct
order.

(a) The lid can be sealed on to the vessel by means of a rubber ring.

(b) It consists of a very strong vessel, made of aluminium alloy with a lid that fits tightly
on the top.

(c) At the centre of the lid there is a vent or hole through which steam can escape.

(d) A pressure cooker is a vessel in which food is cooked in steam under pressure.
Choose the correct answer from the options given below:

(A) (d), (a), (b). (¢) (B) (a). (d). (c), (b)

(©) (@), (b). (0), (a) (D) (d). (¢). (b). (a)

14. The manager by talking about the bonus, much before it came in black and white.
(A) Faced the music (B) Jumped the gun
(C) Cut no ice (D) Blow off the steam



15. Match the Places in List I with meanings of List II:

List I List IT
(a) Business never materialized (I) Reach more people
(b) Hit the mainstream (I) Gain the confidence of others once again
(c) Win back trust (IIT) Unravelling the real story behind it
(d) Penetrating the veil of secrecy (IV) Not to be successful
Choose the correct answer from the options given below:
(A) (@)-(1V), (b)-(D), (c)-(ID), (d)-(1IT) (B) (a)-(I1), (b)-(1I), (c)-(D), (d)-(IV)
(©) (a)-(1), (b)-(ID), (c)-(AV), (d)-(1D) (D) (2)-(1I), (b)-(I1I), (c)-(1), (d)-(IV)

16. She was affected by the situation when her two bosses had different ideas about what her
job involved.

(A) Caught in the crossfire (B) Caught napping

(C) Caught red-handed (D) Caught in the act

17. Given below are four sentences in jumbled order. Select the option that gives their correct
order.

(a) I was hoping to find a photocopier shop.

(b) As I browsed. I felt the bookshop attendant's eyes on me.

(c) Some years ago, on a whim. I walked into a small shopping complex on Church Street in
Bangalore.

(d) Instead, on the ground floor. I discovered a small second-hand bookshop.

Choose the correct answer from the options given below:

(A) (c), (b),(a), (d) (B) (¢), (a),(d),(b)
(©) (@),(d),(c),(b) (D) (b), (0),(a), (d)

18. Match List I with List II:
List I List II

(a) According to the rules, nobody (I) Financially is allowed in without a ticket

(b) In terms of profit we made, (IT) Realistically the festival was a great success.
(¢) In terms of what we can (IIT) socially actually achieve, 80 percent is probably
maximum.
(d) For the good of society this (IV) Officially legislation will considerable relief bring
Choose the correct answer from the options given below:

(A) ()-(ID), (b)-(D), (c)~(D), (d)-(IV) (B) (@)-(IV), (b)-(D), (c)-(1I), (d)-(IID)

(©) (a)-(ID), (b)-(IV), (c)-(D), (d)-(II) (D) (@)-(I), (b)-(ID), (¢)-(AV), (d)-(I1I)



19. Which of the following is a one-word substitute for one who has no money?
(A) Bankrupt (B) Pauper
(C) Orphan (D) Derelict

20. Given below are four sentences in jumbled order. Select the option that gives their correct
order.

(a) This invention has helped us to heal wounds caused by bacteria.

(b) Penicillin is one of the most useful drugs man has invented.

(c) In the beginning, however, very few people knew of this discovery and its use.

(d) Its use has saved the lives of hundreds of thousands of soldiers.

(A) @), (b), (©), (d) (B) (©), (), (b), (d)
(© (), (@, (), © (D) (d), (©), (b). (a)
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